"Q3: The solution set of the inequality 2 <3x —4<5is 677 <2
TA !{'2,31 B) [2.3) ) (2.3) 2
Q4: The solution set of the inequality x> <9 is X< 3 Jot= Yy, S |
A) (—»,—-3)U(3,») B) [-3,3] O (-=,-3JUB») B (-3.3)
Q5: The solution set of the inequality x> >9 is _ -
A) (—o0,—-3)U(3,) B) [-3.3 ) (~0.—3]U[3.0) D) (-3,3)
Q6: The solution set of the inequality x 29x =0 is
A) (—0,0)U(2,) B) (0.2) | ©) (—=.0]U[2.) [0.2]
Q7: The solution set of the inequality x 2_8x +12>0 is
T4 (—e0,2)U(6,) B) (2.6) C) (—=,3]U[4,) D) [3,4]
Q8: The solution set of the equality {x —3, =S
A) {4,10} B) {4,10} C) {-10,-4} D) {-10,4}
(Q9: The solution set of the inequality |2x +5| 2718
A) (-6.1) B) (=-6)U(Le)  [O)-=-6]Ukx)  |D)[61]

Q10: The solution set of the inequality PBx -7 <2 is
B) [m:;}u(l «) 0) [—w,-i]u[s,w) D) [5,3J

\@' (2,3)
43
Q11: The distance between the two points (0,3) and (4,0) is
A) V50 B) V10 C) 25 55 5
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tion of the line with slope —6 and y-intercept 5 is

[B)y =6x+5 [C)y=—6x-5
| Q17: The y-intercept of the line x +2y =—4 is
A)2 Y8)-2 [0)4 [D) 4
Q18: The x-intercept of the line x +2y =—4 is e Y met A wode o
A)2 [B) -2 [C) 4 T5) 4
F)lﬂ’: Slope of the line that passes through the points (4,1) and (-2,3) is , L» ;
A) -3 [B)1/3 NY-1/3 D)3 q
’T}Zﬁ: Equation of the line that passes through the point (—1,1) with siope 1 is
|A)y=—x+2 JB))’=I-2 fC)y=x+2 ‘D)y=—x—2
Q21: Equation of the line passing through the point (1,2) with slope 5 is
A) y =—5x +3 [B) y =5x +3 [C)y=-5x-3 D) y =5x -3
Q22: Equation of the line passing through the points (4,1) and (-2,3) is PN o M 2
A) x +3y +7=0 i”B)x+3y—7=0 [C)x—3y—7=0 |D)x—3y+7=0 |
Q23: Equation of the line that passes through the point (2,1) and parallel to the line y =x +2 is on\)U sz ;
A) y=x+1 TB)}):x—I ‘fC)y=-x+3 lD)y x-3"' °"'"'F

| Q24: Equation of the line that passes through the point (2,1) and perpendicular to the line y =x +2 is
y=—x+3 lD)y =x -3

[B)y =x -1

y-—x+1

[B) 2x +y =2 lC)x 2y =6
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: B) y =x—4+2 Cy=vr+d+2

Jhof y =~ is shifting to the left 4 units and then it is shifting upward -

n be represented by
By w442 y =T %D D) y =vx—4-
?_: Domain of the function f (x)=+v8-2x is
A (=4) ) (—=,4] 0) (4) D) [4=)
Q31: Domain of the function f (x) =~ 1_1 s
= B) R-{0) [0 R-{-1 [®) R-{1]
AL ; e Ay
Q32: Domain of the function g(f)= e is | |
A) (2,) [B) (—=.2] [©) (=,2) [ D) [2,)
, p 3 3x +5 i
Q33: Domain of the function Fix) -—————x e
A) R-{3,4} [B) R-{-43} [oR-{-34) | D) R-{4,-3}
Q34: Domain of the function @)=z 24 s
A) (~-2)U2=) B[22 [0 (-2.2) (~=0,—2]U[2,0)
Q35: The function f(x)=x2+1 is
an even function B) an odd function. C) an even and odd D) neither even nor odd
function. function §

C) an even and odd
function.
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an even function.

C) an even and odd
function.

B) an odd function.

and g(x)=+/x -1, then domain of the function (f +g)(x) is

L )=~
T [Lo) B) (—,1] OR D) (1)
Q42:If f(x)=x and g(x)=+x -1, then domain of the function {/ -g){x)is
A) (—oo,l] [ B) R C) (l,co) ] ) [l,oo)
Q43:If f(x)=x and g(x)=+/x -1, then domain of the function (f xg)(x) is
AR B) (—,1] €)[1,) | D) (1,0)
Q44:If f(x)=x and g(x)=x -1, then domain of the function (f/g)x)is
M) 5 (=1 OF D)
’645: If f(x)=x+5 and g(x)=x2—3,then (feg)x)=
M) x2+2 [B) x2-2 [e) =242 [D) =2-2
Q46: If £ (x)=x +5 and g(x)=x2—3,then (gof )x)= L
B 2210 -2 [8) x2+10: +22 | o) x2-10¢ +22 D) x2-10x -22

AQ47:Iff(x)=x +5,then (f of )(x)=

x +10

B) x +25

Fx)=x+5 and

g(x)=x2-3,then (f°g)(0)=

[B) -2 E

MATH 101
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— =
‘L-i, 4R

e
——
T

B L20E=)

|
(1) = 1) =T, b (5 )) =

%

R 5
=

3 —
= B) ' ' ’_x__ | D) =
Vx -1 ! @ 1-x : :

. J':QSS:Iff(x){l-lx— and g(x)=x 1, then the domain of (g °f )(x)is
A) [o]

T8 [0.1) 0 (0.1) D) E
Qs4: [-32]=
A)32

SO s )N AT o Ry A :
[B) 32 [©) 3 OI4 —

e NP 4+
Q55: If a circle has radius 3 cm,

what is the length of an arc subtended by 2 central angle of —23£- rad 7
) Zem I 2
9

€) 2z cm 1 E
B) E;cm r ’ D) -z—x*cm ,:
o
bY/ 4 1
(&) 120 [ B) 270° hey 300 | D) 150 el
[Q57: 150 =

e

%ls‘
Q

l
S

o

~ [» JoE
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Of AT

Gnx —>odkd
ot o X L i .
n function. B) an odd function. [C)anevenandodd
: function. =T

63: cos*x —sin*x = Cos™y —Siny= NDe®NEH

N B) 1 C) sin (2x )

5 - -‘=;
J,.7Q64;1fsine=§,where §<9<x,then tanf = %

- - - Dy . Rl
g s 2 l@ 4 3 e
: 1 3z
Q65 If sm6=—5, where :r<6‘<?, then cos@=

2
[ —3@ IB)g ’C} B P

A
Lot

e

[§9)
o

y 4

ez Uit

ke

el 5

Q66:Iftan9=-§,where§<€<7r,thcn eseti= ;— .

i - ©

¥
L

D)

B|w

W |

B Q67: Ifsecﬂ=iz-5_’thre 32_z<9<2x’then Sl \, o |

i B)2 @2 |
4 e 5o A

= aTH 101
' : e * & { N Il-u.‘
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0

0
B) (<, 0] 0) (0,0)

Q72 Choose the intervals that describe the shaded regions

o ¢ 00 ol
23 0 2 5
A) (—,0)U[2,5] 'B) (—,0]U(2.5) C) (—o,0)U[2,5) D) (~,0]U(2.5]
Q73 [cos(150°)| = 3 z
2 \ 3
" 5 S Db :
qQr4: sin(30°)xtan(45°) = |
Yy > '—1— C) -l- D) _‘[é E
) 5 ﬂ D 5 2 %
Q75: 2xsin(40°)xcos(40°)= O o\l Vg i G 50 5 e rie ;
A) sin(40°) ) cos(40') [©) sin(80°) D) cos(80°) d
sin’ (25°)+ cos’ (25°) j:
e csc(70°)
C) cse(70°)

x -1

e )s , then the domain of f (¥ ) is given b

- [BR\{-302} ©) R\{-2,0,3}
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?@ sin (257 seasan

By \‘ o 5
|‘ g;,’y ¢ ( 7o
s 7~

M "
|

= sw(70)
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Equation of the line that passes through the point (4,— 1) with slope zero is
IB)x=—I |C) y =4

723 u/x — D=[o,0) \%Oj CHIN
B9 — D -p-7:33 |

\

4
4
4
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